[image: ]
[image: ]
[image: ]
image1.png
MIE/4/PHYSIHPWENGITZOXX

Asphere fits inside a cube.

“The length ofthe cube and the diameter o the sphere are 10.0+0 2cm
i PECEntage uncetainty of the volume of the sphere.,

Whatis the
percentage uncertainty of the volume of the cube
A 2
I
B 1
c 2
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The volume I/ of a cylinder of radius R and height H is given by P'=rR°H. The volume of the
eylinder was measured with an vacertainty of 10% and the height was measured with an vacertainty
£ 6%, What is the uncertainty in the radius of the cylinder?

A 1%
B 2%
c 4%

D. 8%
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Astone falls from rest to the bottom of a water well of depth d. The time ¢ taken to fall is 2.0 £0.25.
1
The depth of the wellis calculated to be 20m using d= 5 a”. The uncertainty in a is negligible.

‘What is the absolute uncertainty in d?

A £02m
B. *1m
C. £2m




